

04.02.2011 to 06.02.2011 Intro Women - Interpretive

Alicia Rhodenizer -Skate Lillooet

Segment Rank - 1

<u># Element</u>	BaseValue	GOE	Score
Total Element Score			
x - credit for second half, base	value multiplied by 1.1		
* - invalid element, scored as a	zero		
< - underrotated jump, << - do	wngraded jump		
e - Severe Wrong Take-off edg	ge		
d - D1,D2,D3 & D4 represents	deduction in base valu	e for	
missing red	uirement		

Program Component			
	Score	Factor	Points
Skating Skill	2.08	2.00	4.16
Transition/Linking Footwork	2.17	2.00	4.34
Performance/Execution	2.50	3.00	7.50
Choreography/Composition	2.58	3.00	7.74
Interpretation	2.83	3.00	8.49
Total Component Score			32.23

Deductions

Total Deductions

Total Segment Score 32.23







04.02.2011 to 06.02.2011 Intro Women - Interpretive

Kelcy Armstrong Arctic Edge SC

Segment Rank - 2

Element Score Total Element Score x - credit for second half, base value multiplied by 1.1 * - invalid element, scored as zero < - underrotated jump, << - downgraded jump e - Severe Wrong Take-off edge d - D1,D2,D3 & D4 represents deduction in base value for missing requirement

Program Component			
	Score	Factor	Points
Skating Skill	2.00	2.00	4.00
Transition/Linking Footwork	2.00	2.00	4.00
Performance/Execution	2.33	3.00	6.99
Choreography/Composition	2.42	3.00	7.26
Interpretation	2.25	3.00	6.75
Total Component Score			29.00

Deductions

Total Deductions

Total Segment Score 29.00





Versions: CSS(10.04.01), SOV(10.04.01), SP(10.04.01)



04.02.2011 to 06.02.2011 Intro Women - Interpretive

Olivia Knight -

Abbotsford SC

Segment Rank - 3

# Element	BaseValue	GOE	Score
	·		
Total Element Score			
x - credit for second half, base valu	e multiplied by 1.1		
* - invalid element, scored as zero			
< - underrotated jump, << - downgr	raded jump		
e - Severe Wrong Take-off edge			
d - D1,D2,D3 & D4 represents ded	uction in base value	e for	
missing require	ment		

Program Component			
	Score	Factor	Points
Skating Skill	1.75	2.00	3.50
Transition/Linking Footwork	2.00	2.00	4.00
Performance/Execution	2.25	3.00	6.75
Choreography/Composition	2.42	3.00	7.26
Interpretation	2.42	3.00	7.26
Total Component Score			28.77

Deductions

Total Deductions

Total Segment Score 28.77





Versions: CSS(10.04.01), SOV(10.04.01), SP(10.04.01)



04.02.2011 to 06.02.2011 Intro Women - Interpretive

Taylor Hui -

Newton FSC

Segment Rank - 4

# Element	BaseValue	GOE	Score
Total Element Score			
x - credit for second half, base val	ue multiplied by 1-1		
* - invalid element, scored as zero	1 ,		
< - underrotated jump, << - down			
e - Severe Wrong Take-off edge	Sraded Jamp		
d - D1,D2,D3 & D4 represents de	duction in base valu	e for	
missing require			

Program Component			
	Score	Factor	Points
Skating Skill	1.83	2.00	3.66
Transition/Linking Footwork	1.58	2.00	3.16
Performance/Execution	2.00	3.00	6.00
Choreography/Composition	1.92	3.00	5.76
Interpretation	2.25	3.00	6.75
Total Component Score			25.33

Deductions

Total Deductions

Total Segment Score 25.33







04.02.2011 to 06.02.2011 Intro Women - Interpretive

Julie Huynh -

North Surrey SC

Segment Rank - 5

# Element		BaseValue	GOE	Score
Total Elemen	at Score			
x - credit for s	second half, base value m	ultiplied by 1.1		
* - invalid ele	ment, scored as zero			
< - underrotat	ed jump, << - downgrade	ed jump		
e - Severe Wr	ong Take-off edge			
d - D1,D2,D3	& D4 represents deducti	on in base value	e for	
	missing requiremen	ıt		

Program Component			
	Score	Factor	Points
Skating Skill	2.17	2.00	4.34
Transition/Linking Footwork	1.75	2.00	3.50
Performance/Execution	1.75	3.00	5.25
Choreography/Composition	1.75	3.00	5.25
Interpretation	1.75	3.00	5.25
Total Component Score			23.59

Deductions

Total Deductions

Total Segment Score 23.59







04.02.2011 to 06.02.2011 Intro Women - Interpretive

Laine Macneil -

Cloverdale SC

Segment Rank - 6

Element GOE Score Total Element Score x - credit for second half, base value multiplied by 1.1 * - invalid element, scored as zero < - underrotated jump, << - downgraded jump e - Severe Wrong Take-off edge d - D1,D2,D3 & D4 represents deduction in base value for missing requirement

Program Component			
	Score	Factor	Points
Skating Skill	1.58	2.00	3.16
Transition/Linking Footwork	1.58	2.00	3.16
Performance/Execution	1.67	3.00	5.01
Choreography/Composition	1.75	3.00	5.25
Interpretation	2.08	3.00	6.24
Total Component Score			22.82

Deductions

Total Deductions

Total Segment Score 22.82





Versions: CSS(10.04.01), SOV(10.04.01), SP(10.04.01)



04.02.2011 to 06.02.2011 Intro Women - Interpretive

Jaymie Capron -Sunshine Coast FSC

Segment Rank - 7

<u># Element</u>		BaseValue	GOE	<u>Score</u>	
Total Element	Score				
x - credit for sec	cond half, base value	e multiplied by 1.1			
* - invalid eleme	ent, scored as zero				
< - underrotated	jump, << - downgr	aded jump			
e - Severe Wron	g Take-off edge	- -			
	D4 represents dedu	uction in base value	e for		
	missing requirer				

Program Component			
	Score	Factor	Points
Skating Skill	1.67	2.00	3.34
Transition/Linking Footwork	1.50	2.00	3.00
Performance/Execution	1.50	3.00	4.50
Choreography/Composition	1.42	3.00	4.26
Interpretation	1.50	3.00	4.50
Total Component Score			19.60

Deductions

Total Deductions

Total Segment Score 19.60







04.02.2011 to 06.02.2011 Intro Women - Interpretive

Natasha Busch -

Aldergrove FSC

Segment Rank - 8

# Element	BaseValue	GOE	<u>Score</u>
Total Element Score			
x - credit for second half, base value multiplied by 1.1			
* - invalid element, scored as zero			
< - underrotated jump, << - downgraded jump			
e - Severe Wrong Take-off edge			
d - D1,D2,D3 & D4 represents deduction in base value for			

missing requirement

Program Component			
	Score	Factor	Points
Skating Skill	1.58	2.00	3.16
Transition/Linking Footwork	1.33	2.00	2.66
Performance/Execution	1.58	3.00	4.74
Choreography/Composition	1.42	3.00	4.26
Interpretation	1.58	3.00	4.74
Total Component Score			19.56

Deductions

Total Deductions

Total Segment Score 19.56





Versions: CSS(10.04.01), SOV(10.04.01), SP(10.04.01)



04.02.2011 to 06.02.2011 Intro Women - Interpretive

Connie Chu -

North Surrey SC

Segment Rank - 9

# Element	BaseValue	GOE	Score
		·	
Total Element Score			
11.16.1	1. 1. 1. 1. 1. 1.1		
x - credit for second half, base value multiplied by 1.1			
* - invalid element, scored as zer	0		
< - underrotated jump, << - down	ngraded jump		
e - Severe Wrong Take-off edge			
d - D1,D2,D3 & D4 represents d	eduction in base valu	e for	
missing requi	rement		

Program Component			
	Score	Factor	Points
Skating Skill	1.67	2.00	3.34
Transition/Linking Footwork	1.42	2.00	2.84
Performance/Execution	1.33	3.00	3.99
Choreography/Composition	1.42	3.00	4.26
Interpretation	1.33	3.00	3.99
Total Component Score			18.42

Deductions

Total Deductions

Total Segment Score 18.42





Versions: CSS(10.04.01), SOV(10.04.01), SP(10.04.01)



04.02.2011 to 06.02.2011 Intro Women - Interpretive

Bahar Heydari -Inlet SC

Segment Rank - 10

Element BaseValue GOE Score Total Element Score x - credit for second half, base value multiplied by 1.1 * - invalid element, scored as zero < - underrotated jump, << - downgraded jump e - Severe Wrong Take-off edge d - D1,D2,D3 & D4 represents deduction in base value for missing requirement

Program Component			
	Score	Factor	Points
Skating Skill	1.33	2.00	2.66
Transition/Linking Footwork	1.33	2.00	2.66
Performance/Execution	1.33	3.00	3.99
Choreography/Composition	1.42	3.00	4.26
Interpretation	1.25	3.00	3.75
Total Component Score			17.32

Deductions

Total Deductions

Total Segment Score 17.32



